Efficiency vs dr

x 0.05
<
£.045
20.04f
< o
) o
®.035F
= o
©0.03
0.025F
0.02F
0.015f
0.01
0.005F
Of 7

Id i
14 —=— DQMstep3_QCD_CKF
’ —e— DQMstep3_QCD_default
—— DQMstep3_QCD_ckfPixelLess

Ratio

1.2

1]

IR T

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

, Jet

P
o 2
2 0a
»_ O

0.35

©
w

0.25

efficiency vs AR(T

o
[N

0.15

0.05

[y

107 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05

o
9.045
20.04

(]
®.035

=
20.03
0.025
0.02
0.015
0.01
0.005
0

Ratio
P
N

P
HR

[

Opr




	Contents
	Page 1


